Sr Questions Answers Choice

. Crop Rotation

. Subsistence Agriculture
. Polyculture

. Agroforestry

1 The method for growing many plants of differente species in the same are.

. 15%
. 20%
. 25%
. 30%

2 The contribution of agriculture in Pakistan's GDP is.

. Cotton
. Gram
. Wheat
. Maize

3 The crop used for food and animal fodder.

. 2%
. 3%
4%
.5%

4 Percentage of total World's coton produced by Pakistan.
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A. Atown
. B. A Hamlet
5 - is a largest type of settlement. C. AVillage
D. A City
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. Mining
. Market
. Resort
. Industrial

6 In town, farmer buy and sell their goods and materials.

. 37%
.53%
.60%
. 63%

7 In recent 2017 census, Pakistan's rural populationis about.

. Rural

. Urban

. Both aand b

. None of these

8 Problem of air pollution is common in settlement.

. Market
. City

. Rurual
. Urban

9 There are less facilities of health in settlements.

. City

. Rural
C. Urban
D. Market

10 - people live in beautiful natural surroundings.



